@ #H—HHBRFE(ICH T D LREE

A (%)

F 1418 CER114E) 551500 PRk 154F) 551600 (PR 194F7)

wkx Ltk Sk wkx Ltk Sk wkx etk Bk

(hEEIE)  (BIERIE) (hEEIE)  (BIERIE) (hEEIE)  (BIERIE)
. 12 0 12 11 1 10 13 1 12
(0.0)  (100.0) (9.1) (90.9) (7.7) (92.3)
HOE RS 2,669 136 2,533 2,634 164 2,470 2,544 190 2,354
w B (5.1)  (94.9) 6.2)  (93.8) (7.5)  (92.5)
B e e 1 0 1 0 - - 3 0 3
ik (0.0)  (100.0) - - (0.0)  (100.0)
B e EE T 779 117 662 831 134 697 928 169 759
miESEA (15.0) (85.0) (16.1) (83.9) (18.2) (81.8)
HE 122 2 120 118 3 115 95 2 93
(1.6) (98.4) (2.5) (97.5) 2.1 (97.9)
—— 10,675 1,084 9,591 | 10,218 1,233 8,985 7,998 1,116 6,882
B (10.2) (89.8) (12.1) (87.9) (14.0) (86.0)
15 0 15 14 0 14 13 0 13
Rl (0.0)  (100.0) (0.0) (100) (0.0) (100)
t%egu[ 877 177 700 837 185 652 841 215 626
E=| (20.2) (79.8) (22.1) (77.9) (25.6) (74.4)
581 1 580 541 2 539 155 0 155
IR 02  (99.8) 0.4  (99.6) 0.0 (100)
e | 18,998 867 = 18,131 | 17,544 1,034 16,510 5,625 481 5,144
IR (4.6)  (95.4) (5.9 (94.1) (3.6)  (91.4)

178 CFpk234) % 18[a] CEpk274) %1908 CEEk314)

W etk FE W ek FE W etk Bk
(TMEEIS) | (BYERIE) (MEEIS) | (BYERIE) (M) | (BEEIE)
. 12 1 11 10 1 9 11 0 11
(8.3) (91.7) (10.0) (90.0) 0.0)  (100.0)
HOE T RS 2,328 180 2,148 2,284 207 2,077 2,277 237 2,040
HR (7.7) (92.3) 9.1) (90.9) (10.4) (89.6)
B e e 5 0 5 5 0 5 6 0 6
ik (0.0)  (100.0) (0.0 (100.0) (0.00  (100.0)
e =vice 71410 924 152 772 1,022 178 844 1,012 211 801
M A (16.5) (83.5) (17.4) (82.6) (20.8) (79.2)
HE 88 3 85 89 4 85 86 6 80
(3.4) (96.6) (4.5) (95.5) (7.0) (93.0)
I 7,104 1,040 6,064 6,865 1,103 5,762 6,724 1,239 5,485
B (14.6) (85.4) (16.1) (83.9) (18.4) (81.6)
13 0 13 11 0 11 11 0 11
RIS (0.0)  (100.0) (0.0)  (100.0) (0.0)  (100.0)
I X 3 821 220 601 817 227 590 785 243 542
B (26.8) (73.2) (27.8) (72.2) (31.0) (69.0)
121 0 121 122 0 122 121 0 121
TR (0.0)  (100.0) (0.0)  (100.0) (0.0)  (100.0)
T 4,418 409 4,009 4,265 443 3,822 4,222 523 3,699
- (9.3) (90.7) (10.4) (89.6) (12.4) (87.6)
BT~
(7)) BTN DWTIE, B A ARRESICHE IR E i 0 2 Br< . 4 A iy D A& 4E5,




